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The Clay Institute Millennium Prize Problems are not wired to the collective

intellect of the humankind. Sadly, such a shame! I mean, what evil envy, aborts and

terrorism do destroy the global intellect. We must not build the arti�cial intellect in

PC, we shall better to support evaluation of the human ability to think. Any

individual's brain and soul is like the super-computer, more powerful and more

beautifully designed, than the entire Universe. So, connecting the human abilities

into the social media, one makes the super-super-super powerful intellect. The global

intellect, which is capable to solve such hardly solvable Millennium Prize problems.

Who likes my mind? I got it from my Lord Creator. Glory to the Jesus Christ!
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Ãëàâà 1

P 6= NP

There are can be made up an unbounded number of tasks, so the probability,
what every one of them has exactly P = NP is zero. c©

Moreover. You are trying to brake an ISIS computer site. If you are given
a password (true or false), then you enter it and check it out for n seconds.
But if you are trying to �nd the true password, you need to enter the very �rst
one. And the probability for it to be true is very low. Therefore, on average, the
P 6= NP .

For, sure, at least some tasks will for ever have P 6= NP . Here are the
simplest examples.

1) Person has a password for his bank account. There is meaningless small
probability, what Hacker's very �rst try will match the password of the person.
In the long run, the total time of success will be less, than of failer: P 6= NP .
Hackers' universal keys are all ignored by ignoring all incoming �les.

2) The quadratic equation x2+b x+c = 0, where b = 34, c = 12. The solution
is −(b/2)+

√
b2 − 4 c/2, −b/2−

√
b2 − 4 c/2. Note, what there are two solutions.

But even, if the chosen is −(b/2)+
√
b2 − 4 c/2, the CPU time for its calculation

is 3 times more, than for �nding x2 +b x+c if is known x = −0.35668302. Thus,
P 6= NP .

The quantum computer will also have P 6= NP in this situation, because
some tasks can not be computed in instant: the case with determinant has 7
CPU unit of times (because at �rst CPU step the operations: b2, −b/2, 4c are
made, at second and third CPU steps of time the Determinant is calculated,
then it is divided by 2 and the �nal addition is made). But the x2 + b x = −c
has only 3 CPU units of time (1: to �nd x2, b x; 2: to add these two x2 + b x; 3:
to compare result with −c).
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Ãëàâà 2

Millennium problem and the

wishful thinking. Is

Perelmann wrong?

It is amazing to see, how the problems �nd their solutions. Even such extremely
long as the 1200 pages of the ABC-hypothesis proof of the �Japan Perelman�,
which is needed to be consumed by the most brilliant men to come. And like
the �rst PCs were huge but became compact, the large proofs can turn into very
compact ones. c©

2.1 Is it so hard to prove the Poincare Conjecture?

2.2 First Proof

The spacetime metric is gij , i, j = 1, 2, 3. The according Ricci tensor is Rij . The
according deformation equation

Rij(κ) = κUij + (1− κ)Rij(0) , (2.1)

has allways a singularity-free solution, which is the metric gij(κ). Because the
metric has 6 independent components and there are 6 independent functions
Rij(κ). The Uij is the Ricci tensor of the Friedman closed Universe:

ds2 = dr2 + (ε+ sin r)2 (dθ2 + (β + sinθ)2 dφ2) , (2.2)

where constants ε = β = 0.

2.3 Second Proof

The metric (2.2) with β = 0, ε 6= 0 can be transformed using the θ = θ(v, w), φ =
φ(v, w) into the metric ĝij , which has ĝv w = 0, det ĝ = 1 + det g. These are two
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equations for two transformation functions. So, it has the solution.
Through the coordinate transformation the original metric can allways be

transformed to the diagonal form:

ds2 = f1 dv
2 + f2 dw

2 + f3 dq
2 . (2.3)

The corresponding RicciScalar is non-singular, if the det ḡ = f1 f2 f3 6= 0 in all
the manifold. Let us make the deformation transformation

ḡij(κ) = κ ĝij + (1− κ) ḡij(0) (2.4)

During all the 0 ≤ κ ≤ 1 the determinant is non-zero, thus, there is no curvature
singularity. The nonzero of ε implies to the singularity-free mini-wormhole,
which mouths are connecting the south and north poles: r = 0 and the r = π.
By turning ε→ 0 this wormhole shrinks to zero � vanishes.

2.4 Third Proof

The deformation (2.4) with ĝij in form of the (2.2) with non-zero ε, and the
β. After we get from the original manifold the ĝij , we can turn the β to zero,
without any singularity of the RicciScalar (please check it), and then to shrink
the mini-wormhole to zero by taking the limit ε→ 0.

2.5 The connectivity of manifold

Because the metric above does not distinguish the simple from multiply-connected
manifold, then, in the end, all manifolds are homeomorphic to the sphere.
An example of multiply connected manifold are two mouths of a wormhole,
connecting two distant areas of our Universe.

2.6 Discussion

The simple-minded people think, what if the Fields medal as well as the Clay
Millennium prize were attributed to Perelman, then there are the Prizes. But
he refused them both, and, so, his extremely complicated proof has no Prize
attached to it. The deal with Prize is not �nished, therefore, in the end, the
Clay Institute still can give us the Prize. The process is not �nished, until the
�champaign is opened�. The right social behavior is the necessary part of the
scienti�c process.

The best explanation of Grigori'es arXiv paper on �nds there to read for
free of charge. The well known explanatory book starts with concise description
of what the Grigori has done. But it can hardly contain all of the Grigori'es
arguments, which one could �nd in the remaining text. However, I have not
the required skills to read it. I can only present my comments to the concise
description.
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Let us open the John W. Morgan and Gang Tian, �Ricci Flow and the
Poincar�e Conjecture� arXiv:math/0607607 and read at page 9 the text of overall
complexity:

�(ii) If the initial manifold is simpler then all the time-slices are simpler: If
(M,G) is a Ricci �ow with surgery whose initial manifold is prime, then every
time-slice is a disjoint union of connected components, all but at most one
being di�eomorphic to a three-sphere and if there is one (my remark (R1)) not
di�eomorphic to a three-sphere, then it is di�eomorphic to the initial manifold.
(R2) If the initial manifold is a simply connected manifold M0, then every
component (R3) of every time-sliceMt (R4) must be simply connected (R5) and
thus a posteriori every time-slice is a disjoint union of manifolds di�eomorphic
to the three-sphere.�

List of Martila's remarks:
(R1) �let us use a symbol for this: the A�
(R2) Let us add in this place: �after the making the surgeries (cut outs) tiny
small, because fareign elements (which �ll the surgery holes) must not come into
the �nal manifold.� And let us call this manifold A as �nal stage of the �Ricci
�ow� process: ie, the symbol MT = A as the John W. Morgan and Gang Tian
use.
(R3) �the Si�.
(R4) �Dear John Morgan, please, it is not the MT , but the Mt!!!�
(R5) �the Si are made tiny small, so they can be ignored at all. The important
is the �nal MT . Has it the constant Curvature R or has not?�

I am sorry, but this non-mathematical description of Grigori proof can not
possibly demonstrate, what the initial manifold M0 turns into manifold MT of
constant positive Scalar Curvature R or a collection of manifolds (

∑
Si) with

each of them {S0, S1, S2, . . . , SN} having �xed positive curvatures Ri. We hope
to �nd the strict math of it in the rest of the book.

From this short description the Perelman's method of surgery implants
foreign manifolds Fi into original manifold M0? Yes, it does. Is it threat to
homeomorphism? Yes, it is. Shall the combination of cut-outs mi (which are
replaced by the Fi) be carefully re-attached into the �nal Sphere S to preserve
homeomorphism M0 ↔ S? Yes, it must. Note, Perelman's talk about scalar
curvature R is no more general, than the Einstein's use of Riemann's Curvature
Tensor: the zero of Scalar Curvature might not be a �at spacetime without
singularities.
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Ãëàâà 3

On Navier-Stokes problem

3.1 Î ãëàäêîñòè òåêóùèõ ñòðóé

Ïðè ãëàäêîì íà÷àëüíîì ñîñòîÿíèè ñèñòåìû (ò.å., ïðîèçâîäíûå
êîíå÷íû â íà÷àëüíûé ìîìåíò), óðàâíåíèÿ Íàâüå � Ñòîêñà (Í.-
Ñ.) áóäóò óäîâëåòâîðåíû íà ïðîòÿæåíèè âñåé ýâîëþöèè ñèñòåìû.
Ïîýòîìó óðàâíåíèÿ Í.-Ñ. íå ÿâëÿþòñÿ èñòî÷íèêîì ñèíãóëÿðíî-
ñòè è ïðåêðàùåíèÿ ýâîëþöèè.

3.2 Ââåäåíèå

Óðàâíåíèÿ Íàâüå � Ñòîêñà åñòü ñèñòåìà äèôôåðåíöèàëüíûõ óðàâíåíèé â
÷àñòíûõ ïðîèçâîäíûõ, îïèñûâàþùàÿ äâèæåíèå âÿçêîé íüþòîíîâñêîé æèä-
êîñòè. Óðàâíåíèÿ Íàâüå � Ñòîêñà ÿâëÿþòñÿ îäíèìè èç âàæíåéøèõ â ãèäðî-
äèíàìèêå è ïðèìåíÿþòñÿ â ìàòåìàòè÷åñêîì ìîäåëèðîâàíèè ìíîãèõ ïðèðîä-
íûõ ÿâëåíèé è òåõíè÷åñêèõ çàäà÷. Íàçâàíû ïî èìåíè ôðàíöóçñêîãî ôèçèêà
Àíðè Íàâüå è áðèòàíñêîãî ìàòåìàòèêà Äæîðäæà Ñòîêñà. [4]

Ãëàäêîñòü íåêîåé ôóíêöèè ýòî êîãäà ãðàôèê ôóíêöèè è ïåðâàÿ ïðîèç-
âîäíàÿ ýòîé ôóíêöèè íå èìååò îáðûâîâ â ôîðìå ñòóïåíüêè: ôóíêöèÿ è å¼
ïåðâàÿ ïðîèçâîäíàÿ �íåïðåðûâíû�. Ãëàäêà ëè òåêóùàÿ æèäêîñòü? Ýòî åñòü
òàê íàçûâàåìàÿ Çàäà÷à Òûñÿ÷åëåòèÿ, çà ðåøåíèå êîòîðîé îáåùàí äåíåæ-
íûé ïðèç è âñåìèðíàÿ ñëàâà.

Èìååì óðàâíåíèå. Åñëè ïàðàìåòðû óðàâíåíèÿ íå ãëàäêè, òî äâèæåíèå
æèäêîñòè òîæå íå áóäåò âïîëíå ãëàäêèì. Òî åñòü ñàìî òå÷åíèå áóäåò ïëàâíî
èçìåíÿòüñÿ, íî ñêîðîñòü èçìåíåíèÿ (èëè æå ñêîðîñòü ñêîðîñòè èçìåíåíèÿ)
áóäåò óæå ðåçêî ìåíÿþùåéñÿ. Ýòî åñòåñòâåííî: íàïðèìåð, ïî âòîðîìó çà-
êîíó Íüþòîíà ðåçêîå èçìåíåíèå ñèëîâîãî ïîëÿ âûçûâàåò ðåçêîå èçìåíåíèå
óñêîðåíèÿ âåùåñòâà.

Åñëè æå âñå ïàðàìåòðû óðàâíåíèÿ ãëàäêè (èõ èçìåíåíèÿ, è âñå èçìåíå-
íèÿ èçìåíåíèé � ãëàäêè), òî è ðåøåíèå áóäåò ãëàäêèì, òàê êàê íåò èñòî÷-
íèêà ðåçêîãî èçìåíåíèÿ. Ïðè ýòîì ðåøåíèÿ íå ìîãóò ñòàòü áåñêîíå÷íûìè,
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âåäü ìîæíî ïîêàçàòü (ñì. íèæå), ÷òî èçíà÷àëüíîå ãëàäêîå ðåøåíèå áóäåò
îñòàâàòüñÿ îãðàíè÷åííûì âî âñ¼ âðåìÿ.

Òàêîå ñëîæíîå, êàê òåîðèÿ äâèæåíèÿ âÿçêèõ òåë áûëà îïóáëèêîâàíà óæå
â ïåðâîé ïîëîâèíå 19-ãî âåêà? Òåì íå ìåíåå, ìû äî ñèõ ïîð ñòàëêèâàåìñÿ ñ
òðóäíîñòÿìè ïðè àíàëèçå óðàâíåíèé. Ñîâñåì íåäàâíî (ïî ñðàâíåíèþ ñ 19-
ûì âåêîì), â 2015 ãîäó, áûëà îáíàðóæåíà óãðîçà ñèíãóëÿðíîñòåé [1]. Íî
îòñóòñòâèå îêîí÷àòåëüíîãî óñïåõà, ïðîäèêòîâàíî îòñóòñòâèåì ñàìèõ Í.-Ñ.
óðàâíåíèé â ýòîé [1].

Íàçîâåì ôóíêöèþ �ðåãóëÿðíîé�, åñëè ôóíêöèÿ è âñå åå ïðîèçâîäíûå
ìåíüøå áåñêîíå÷íîñòè.

Åñëè íà÷àëüíîå ñîñòîÿíèå ÿâëÿåòñÿ ðåãóëÿðíûì (è âûðàæàåòñÿ ÷åðåç
ðÿä Òåéëîðà â ìîìåíò t = 0 ñ äèàïàçîíîì ñõîäèìîñòè 0 < t < T ) è óäîâëå-
òâîðÿåò â íà÷àëüíûé ìîìåíò âðåìåíè óðàâíåíèþ Í.-Ñ., òî óðàâíåíèå áóäóò
óäîâëåòâîðåíî âî âñåì äèàïàçîíå 0 < t < T (ñì Ïðèëîæåíèå À). Òàêèì
îáðàçîì, íåò íèêàêîãî èñòî÷íèêà ñèíãóëÿðíîñòåé.

Äèàïàçîí ñõîäèìîñòè ìîæåò áûòü ñäåëàí î÷åíü áîëüøèì, åñëè â èñõîä-
íîì ñîñòîÿíèè ïðîèçâîäíûå âûñîêîãî ïîðÿäêà ìîãóò áûòü ìåíüøå, ÷åìM =
ôèêñèðîâàííîå

|
∑

f (k)
tk

k!
| <

∑
|f (k)| t

k

k!
< M

∑ tk

k!
<∞

ñ ëþáûì 0 < t <∞.

3.3 Ïðèëîæåíèå: ôîðìà óðàâíåíèÿ Í.-Ñ.

Èçâåñòíî, ÷òî óðàâíåíèå Íàâüå-Ñòîêñà ìîæåò èìåòü òàêóþ ïðîñòóþ ôîðìó
[2]

ρ
(∂~v
∂t

+ (~v∇)~v
)

= ρ~F −∇ p+ (γ + µ)∇ (div~v) + µ4~v , (3.1)

ñ óðàâíåíèåì ñîñòîÿíèÿ p = p(ρ, T ), è äèññèïàòèâíûìè ïîñòîÿííûìè γ, µ.
Êîãäà æå γ è µ ÿâëÿþòñÿ ôóíêöèÿìè ïðîñòðàíñòâà è âðåìåíè, òîãäà óðàâ-
íåíèå Í.-Ñ. ñòàíîâèòñÿ [3]

ρ
(∂~v
∂t

+ (~v∇)~v
)

= (3.2)

= ρ~F −∇ p+ (γ + µ)∇ (div~v) + µ4~v+

+A∇vi +Bi div~v + Ck∇vk ,

ãäå A := ∇µ, B := ∇γ, k-íàÿ êîìïîíåíòà âåêòîðà åñòü Ck := (∇µ)k.
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3.4 Ïðèëîæåíèå A

Óðàâíåíèå Í.-Ñ. èìååò âèä N(t, x, y, z) = 0 ïðè âñåõ t. Ïîýòîìó ïðè t = 0 ó
íàñ ñëåäóþùèå óðàâíåíèÿ

nk :=
∂kN

∂tk

∣∣∣
t=0

= 0 ,

äëÿ âñåõ k = 1, 2, 3, . . ..
Ñ äðóãîé ñòîðîíû, ðÿä Òåéëîðà

f =
∑

f (k)
tk

k!
,

ãäå â ðîëè f ìîæåò âûñòóïàòü ïëîòíîñòü ρ, âíåøíÿÿ ñèëà ~F , äàâëåíèå p,
ñêîðîñòü ~v, âÿçêîñòü µ è ò.ä. Âñòàâëÿåì âñå ýòè ðàçëîæåííûå â ðÿä Òåé-
ëîðà âåëè÷èíû â Í.-Ñ. óðàâíåíèå N(t, x, y, z) = 0, è ãðóïïèðóåì ÷ëåíû ñ
îäèíàêîâûìè ñòåïåíÿìè ó t

N = N0 +N1 t+N2 t
2 +N3 t

3 + . . . .

Îêàçàëîñü, ÷òî âñå Nk ∼ nk = 0, ïîýòîìó âñå Nk = 0.

Çàêëþ÷åíèå

Â ñòàòüå ïîêàçàí îðèãèíàëüíûé ïîäõîä ê ðåøåíèþ ïðîáëåìû Èñòèòóòà
Êëåÿ. Ïîëó÷åíû íîâûå ðåçóëüòàòû. Â çàêëþ÷åíèè ïðèâîäèòñÿ ñëåäóþùåå
ðàññóæäåíèå:

ß ïîêàçàë, ÷òî åñëè â êàêîé-òî ìîìåíò êîíôèãóðàöèÿ ÿâëÿåòñÿ ãëàäêîé
è ðåãóëÿðíîé, òî îíà ãëàäêàÿ è ðåãóëÿðíàÿ âñ¼ âðåìÿ. Íî åñëè â äàííûé
ìîìåíò êîíôèãóðàöèÿ íå ÿâëÿåòñÿ ãëàäêîé, òî ýòî îçíà÷àåò, ÷òî ñèëà F íå
ÿâëÿåòñÿ ãëàäêîé (ñì. ñòðóêòóðó óðàâíåíèé, òàì ñèëà � ëèíåéíûé ÷ëåí).

Òàêèì îáðàçîì, ïóòåì äîáàâëåíèÿ âñïîìîãàòåëüíîãî ÷ëåíà, ~F +δ ~F , è çàòåì
óìåíüøàÿ åãî çíà÷åíèå δ ~F → 0, äåëàåì êîíôèãóðàöèþ ãëàäêîé ñíîâà.
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Ãëàâà 4

The Riemann hypothesis

Derived the Statistics of the un-solved problems (conjectures). The probability,
what a conjecture will be solved is 50%. The probability, that a conjecture is
true is p = 37%. The probability, what we get to know the latter is ψ = 29%.
Within the list of un-solved conjectures in Wikipedia (they are w = 140) are only
n = 33 right ones, which could be proved positively. But the humankind is able
to prove only X = 16. It is 50% of probability, what given conjecture will not
ever be solved (I call a problem �solved�, if it is either proved or rejected.) So, the
famous David Hilbert's �Wir m�ussen wissen, wir werden wissen� is not correct.
The Rimann conjecture is true with probability 100%. The others un-solved ones
are true with probability p = 37%. c©

4.1 The solution to Riemann Conjecture

If after the N � 1 tests the theory fails one time, then from de�nition of
probability one says: probability of the failure is 1/N . It is the start of the
statistics, hereby more tests will not follow; moreover, because N � 1, the
collection of more numbers of failures is meaningless, because the �true probability�
can change during these successful N − 1 tests in between. Therefore, the
Scienti�c probability of failure is 1/N .

That is fully describing the randomness in the system. So, if there is some
collapse of latter, then one writes: 0/N and so the theory is true with certainty.
About the Riemann Conjecture the Russian Wikipedia says in 2016: �Is known,
what if the Conjecture is wrong, then it can be demonstrated.� But starting
from my formulas there is probability 50%, what the Conjecture will never be
solved. Therefore, the Conjecture is True.

Moreover, in one interview the leading mathematician John F. Nash says
�The Riemann Conjecture is number one problem in math, but possibly it can
not be proved. However it is possible to prove, what the Conjecture is not
provable.� See 30-th minute in the video: https://youtu.be/q1I0UY204J8
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4.1.1 Calculation of probabilities

Suppose now, what N �rst tests were successful. What is the probability, what
remaining tests are successful?

p := (1− 1/(N + k))k = 1/exp(1) , k →∞ .

Thus, it is nothing says, what the theory is successful yet. It is still more probable
to fail.

If you open the article �List of unsolved problems in mathematics� in Wikipedia-
2016, the total number of words �conjecture� is w = 140 (the obvious doublets
we do not count in) and the total number of solved (I assume, word �solved� is
not �debunked�) conjectures is m = 50.

The total number of conjectures is simply

N = β1 (m+ n)/p ,

here and after the βi = 1 + εi ≈ 1. The n is the number of true, but not solved
yet conjectures.

The total number of solved conjectures is

M = β2m/U ,

where U is probability, what the solved conjecture is true. Then, the wrong
solved conjectures are d = M −m.

From N = w+m+ d one �nds the n. From n/(w−m) = p one �nds the U .
Then the probability, what a conjecture is true and what the humankind will get
to know this is H = p (m+X)/(n+m), where X is the number of conjectures,
which humankind will solve to be true. The probability, what conjecture is false,
and what the humankind will discover it, is

h = (1− p) d+D

N − (n+m)
,

where
D := β3X (1/U − 1)

is the number of conjectures, which humankind will solve to be false. The N −
(n+m) is the total number of false conjectures, which are not solved yet. Then
from 1−H − h = (M + β4X/U)/N one �nds the X. It is 16.

Using the Taylor series for small ε1, ε2, ε3, ε4 one �nds in �rst term the
probability, what a problem will be solved: 1−H−h = 1/2. It is like the saying:
�the probability to meet a dinosaur is 1/2: you meet him or you meet him not.�
I think, it is subconscious knowledge of the people, about the 1/2, which is
derived here. Therefore, it is expected, what 3 of 7 Millennium Problems will
not ever be solved. With my help are solved 4 Problems from the Millennium
list, therefore there is nothing more, what is left to do with these 7 Problems.

The probability

ψ := (m+X)/N =
1

2 exp(1)− 2
≈ 29%
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is the chance, what the Riemann's hypothesis will be solved to be true. Note,
what holds H = ψ.

Surprisingly, the ψ < p. Therefore: The holder of Verity is not the humankind.
Note, what the derived probabilities U , p, ψ, h and 1 − H − h are expressed
through the fundamental constant e only, and are not dependent on the system
(the m− and w− independent) and, thus, the system management.
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